PANDUIT 2atas

07026C

Net-Access™Net-SERV"+ v EZXY b #liR

Part Numbers: SRM19X25A1

©Panduit Corporation Japan Branch

NRIBRFTEER
(EE®D 2 &FR)

AR
R Lk
| HE E
IRIR 4 HE
ERIRE AR -10 ~ +60 [°C]
15 R FE 6 25 ~ 85[%] (fa=BGE_L)
KBS EBF-EEZFOERNDH
KK -EST B -ERNEE - BEFIIHRE)
TiE MERETERESE HARLFELY, [ IREA—FLRRTY)
[ % | w4826 x D6350 x H 444 [mm] ( AZ +038[mm])
8HE
DES 9600 [g]
RAEHES 113 [ke]
fd
[ 194v3395 | 1399 azub
h7—
| hy— | BL(®)
nf e

NRVERAT Y & 8 Rivh

(#12-24%12.7) (M6X12) FA'RY

R TEER | 4%

(#10-32%x95 ) #5%%°

SHILEMERE
[ #zEE | RoHsS®EEA | BAK
ki #l E £ B & R Page 1/3
03 | 20124 12 51931 8 RiE 55




PANDUIT 2edas

Net-Access™Net-SERV"+ v EZXY b #liR
Part Numbers: SRM19X25A1

©Panduit Corporation Japan Branch

S kKRR BE
hiR ¥ hk B EERA $HY
01 2007.05.07 | FIhRFIE wZzM
02 2007.10.31 | EHLEYMEREZEM ez,
03 20121219 | KIE@E#H RiE
kR Hl E & B & R Page 2/3

03 | 20124 12 51931 8 RiE 55




4

THIS COPY |IS PROVIDED ON A RESTRICTED BASIS AND 1S NOT TO BE USED IN ANY WAY DETRIMENTAL TO THE INTERESTS OF PANDUIT CORP.

° ° PANDUIT P/N WE 1 GHT
-« 17.52 > USE WITH 3"
STANDARD CHANNEL
444.9 21.1 LBS/EACH
AN ] RACK SRM | 9X25A 1 5.6 Kg/EACH
—— 3.00 NOTES:®
. VISIT OUR ON-LINE CATALOG AT
[76.2] WWW.PANDUIT.COM FOR A CURRENT LIST
25.00 ° ° v OF PRODUCTS APPLICABLE FOR USE
[635.0] N WITH THIS PART.
5.00 2. COMPONENTS:
i ° ° | . |- SHELF
A [152.4] 2- MOUNTING BRACKETS
. . 4- #10-32 X 3/8" UNDERCUT SCREWS
. 8- #12-24 X 1/2" SCREWS
A 8- M6 METRIC SCREWS
° ° 3. SHELF CAN BE ADJUSTED TO 2 POSITIONS.
4. DIMENSIONS IN PARENTHESIS
USE WITH ARE METRIC.
° ° PART DRS4 5. LOAD CAPACITY OF 250 LBS.

19.00 [482.6] S
* - 18.31 [465.1] —» [22.2]
v
B

-—— 18.31 [465.1] —»

1.75 —
MOUNT ING BRACKETS MODEL. F |LENAVE
[44.4] SHOWN FOR PQSITIONING V10254AB-03.7RT
REFERENCE (SEE NQOTES  [eerfiewennes V10254AB DC _03A.PRT
FOR QUANTITIES)
/A\ N D U I T CORP. TINLEY PARK, ILLINOIS
19" X 25" ADJUSTABLE RACK MOUNT SHELF
(SRM1SGX25A1 )
SHELF CUSTOMER DRAWING
UNLESS OTHERWISE SPECIFIED, UNLESS OTHERWISE SPECIFIED,
DIMENSIONAL TOLERANCES ARE: AL DIVENSIONS AFE GIVEN
(.X) £ 03 (JXXX) + .005
(JXX) + .015 ANGLES + 1° IN INCHES, THIRD ANGLE PROJECTION.
03A o412 | Pu |Bka | A. REVISED GEOMETRY L0254 04 R W MAT"L: scALE NONE
e STEEL - POWDER pe—
R [10-19-04 TKW RELEASED TO PRODUCTION 10254-04 10-19-04 COATED ove
5T BLACK 10254-04 | A
REV | DATE |BY |CHK DESCRIPT ION ECN - R |[cusT [sup | OTH size

v



